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QUESTION 1

The next hop for the route is not reachable.

In this scenario, what are two ways that BGP handles this route? (Choose two.)
A. The route is placed into the forwarding table as an inactive route.

B. The route is not placed into the forwarding table.

C. The route is placed into the routing table as a hidden route.

D. The route is placed into the forwarding table as a hidden route.

Correct Answer: BC

QUESTION 2

Click the Exhibit button.

default {
vlian—id 1;
}
vid4 |
vlian—-id 14;
13-interface irb.14;
}
vil5 |
vlan—id 15;
13-interface irb.15;
}
vie |
vlian-id 16;
13-interface irb.16;
}

Referring to the exhibit, the IRB interfaces are configured with which family?
A.irb

B. ethernet-switching

C. inet

D. I3-interface
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Correct Answer: C

QUESTION 3

Which protocol supports tunneling of non-IP traffic?
A. GRE

B. SSH

C. IPsec

D. IP-IP

Correct Answer: A

QUESTION 4

Click the Exhibit button.

{master:0}
userlswitch> show spanning-tree bridge
STP bridge parameters
Context ID
Enabled protocol
Root ID
Rooct cost
Foot port
Hello time
Maximum age
Forward delay
Message age
Number of c—opology changes
Time since last topology changes
Topology change initiator
Topology change last recvd. from
Local parameters
Bridge ID
Extended system ID
Internal instance ID

1]

RSTP

B192 .50:ch:8d:ae:db:41
40000

ge—0/0/14.0

2 seconds

40 seconds

30 seconds

4

1

©4 seconds
ge-0/0/14.0
2c:ob:f£5:31:06:0e

32768.50:c5:8d:ae:bd:41
0
0

Referring to the exhibit, which statement is correct?
A. The device is the root bridge?

B. The spanning tree session has timed out.
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C. The local bridge priority is set to 8k.
D. The bridge priority on the root device is set to 8k.

Correct Answer: D

QUESTION 5

Which mechanism is used to share routes between routing tables?
A. RIB groups

B. routing instances

C. forwarding instances

D. filter-based forwarding

Correct Answer: A
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